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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections, A, B C and D.
There are 35 questions in the question paper. All questions are compulsory.

(it) Section A — question no. 1 to 20 are very short answer type questions,
carrying 1 mark each.

(iti) Section B — question no. 21 to 28 are short answer type questions, carrying 3
marks each. Answer to each question should not exceed 80 words.

(iv) Section C — question no. 29 to 34 are long answer type questions, carrying 5
marks each. Answer to each question should not exceed 120 words.
(v)  Section D - question no. 35 is map based carrying 6 marks with two parts

35 a from History (2 marks) and 35 b from Geography (4 marks).

(vi) Answer should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach MAP along with your answer book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

Section - A

1.  Which one of the following was NOT the result of the Treaty of Vienna 1815 ?
(a) The Kingdom of the Netherlands was setup in the North.
(b) Austria was given control of Northern Italy.

(c) Prussia was given important new territories on its western frontiers.

(d) Russia was given German confederation of 39 states. 1
2.  Define the terms ‘indentured labourer’. 1
[.32/2/3.] 3 P.T.O.
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(a) fafor= game avgi & 7=

(b) ol gmriores Tvg & 7y

(¢) TaenRrem, srimferet va =medferet o Tex

(d) U9 IHR, T ThHR T WM (1 & ge 1

4.  TfET3Ti ! qENi o GO T HE &7 § THH 97 - o {o1¢ i Teh g ferfaw | 1
AU
vt et § gt aftar i | Seera & o fofe Sis veh gema fofaw | 1

5. W A9 B A TR foehed 1 w99 $IfNT
W A Wy B
(a) IS o TG fpa™ (i) T LA o 3Tk TG qT ST ASIgl
(b) {HE TTHIOT TG (i) o= & foru srfaferm aneqi 6
EECEon
(c) Trom @t & fu haat et W (iii) Ferami =1 37eht 3ut & fotu samen
ff g BERER
(d) I IR IREAR FI Th AShl  (iv) I 379 WTE o THMH ATTET e 2 |
6. Gnfed ud 3rEnfed & § 37 oY HIfT | 1
A%t
U= SUSTTRY o Y ol T IS | 1

7. dlfeAeht ST 31EAIH HIfTY qer A= few mu geq w61 39 A
TR, e 3iR R % 3o geTee st

ok

- 1‘3;230‘13;“; AR % | ¢ s s (2 100 =)
’ (2011) | SR (3719 14 qo 15 a9) 2013-14
(2016)
g 33 82 61
HA 10 94 83
fagr 38 62 43
i ;3 Tee, 2017-18 Sicyd 2, WRA R, TP T Haaiur §ie-
(feavd g 575)
fora U= <t wneRaT X Te AfE | 7 1
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Identify the correct option of power sharing on the basis of different levels of

@

government.

(a) Among different pressure groups.

(b) Among different social groups.

(¢) Legislature, Executive and Judiciary.

(d) Union Government, State Government and Local bodies. 1

4. Suggest any one way to pay equal wages to women in all areas of work as
equal to men. 1

OR

Suggest any one way to change ‘family laws’ of all religions. 1

5. Match Column A with Column B and choose the correct option given below :
Column A Column B

(a) Prosperous farmers from Punjab. (i) More days of work and better wages.

(b) Landless rural labourers. (11) Availability of additional sources of
irrigation facilities.

(¢) Farmers who depend only on (111) Higher support prices for their

rain for growing crops. crops for farmers.

(d) A girl from a rich urban family. (iv) She gets as much freedom as her

brother. 1

6. Distinguish between ‘Organised’ and ‘Unorganised Sector’. 1
OR
Explain the meaning of Disguised Unemployment. 1

7.  Study the table and answer the question that follow :
Some comparative data on Haryana, Kerala and Bihar

Infant Mortality | Literacy | Net Attendance Ratio (per
State Rate per 1,000 Rate % | 100 persons) secondary stage
live births (2016) | (2011) | (age 14 and 15 years) 2013-14

Haryana 33 82 61

Kerala 10 94 83

Bihar 38 62 43
Sources : Economic Survey 2017-18 Vol. 2. Government of India ;

National Sample Survey Organisation. (Report No. 575).

_______Which State has the highest literacy rate ? 1
1.82/2/3.] 5 P.T.O.
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8.

9

EDE)
W oh 3T S T TE TG I 1 19 fTRa | 1

10. T=ferfea v | @ forad wah afd hi @M fRra g 2
(a) TSEA™ (b) dfirerTg
(0 IWIH (d) U 1
11. ‘37T Yooh’ 976G oh! TRATING ST | 1
Jneran

GATE It FAT 8 7 1
12. TraTwa 868 3. § stg sRmE g &1 gfga fohan 7 1

13. sfesem & frareh ygw w9 @ frafofaa 8§ @ o = @ amd aerd 8 2
(a) %= 9 S (b) TIIHT
() ®Hgsw (d) wHa®E 1

14. o1 &t faawor =1 31ef wom Fifse | 1

15. T o i gfd hifse
Ty | ferd T Foft o T S=NT b Tl ST SITaT 2 | 1

16. TR A 9% B0 4 Hel farshe o1 =2 hifw |
A W B
(a) TS A 3T i @H G T
(b)  TEYW AT Snoll G (i) @S
(c)  SladrEe o WeH (ii)  3nfssm
(d)  HAdA qA & (iv) IHHH 1
17. 39ged ga-1 § Tt arforeh! i U i :
T o TR T GETET b ThI
YA 3IGTE0T / IR
A? ELRIAGISIERE I
B? foram <h Wt <t S L+h=1

18. ‘U5 Tl 3 WiEe sifd & fow sgge aifeufet = 2 fafafes 4 @ &9 @
TR oM i I8 a1 8 ?
(a) U % IoTd FHICH o Toidehi o for=Ri 3l THR T |
(b) @A 3 3nYfehar 3R FrgpeTaTg Y ST U9 |
(c) TR UGRAT i HaTe o a1e-Taarg i Tt F&hid I 5+ fea |
(d) HEU TR A had HefA a7 oh T hT THR FohaT | 1
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8. Suggest any one measure for the development of any activity of
‘Secondary Sector’. 1
9. Name the first major sea port developed soon after Independence on the
Western Coast. 1
OR
Name the inland riverine major sea port of India. 1
10. In which of the following States i1s Khetri Copper Mines located ?
(a) Rajasthan (b) Tamil Nadu
(¢) Uttar Pradesh (d) Punjab 1
11. Define the term ‘“Tariff’. 1
OR
What is a ‘Fly Shuttle’ ? 1
12. Which country printed the Buddhist Diamond Sutra in 868 A.D. ? 1

13. Which two languages among the following are prominently spoken by
Belgium Nationals ?

(a) French and English (b) Dutch and French
(¢) Russian and Dutch (d) Russian and French 1
14. Explain the meaning of horizontal distribution of power. 1
15. Fill in the blank :
1s well known for effective use of wind energy in Rajasthan. 1
16. Choose correct option from Column A and Column B.
Column A Column B
(a) Mayurbhanj Iron Ore Mines (1) Gujarat
(b) Chandrapura Thermal Power Plant  (11) Jharkhand
(c) Bauxite Mines (1) Odisha
(d) Kalol Oil Fields (iv) Amarkantak 1

17. Fill in the blanks of the following table with suitable information.
Type of Resources : On the basis of Ownership

Resource Examples / Type
A? Grazing grounds, ponds etc.
B? Cultivated land of farmer. Yo+ %=1

18. “Print culture created the conditions within which French Revolution
occurred.” Which one of the following option support this statement ?
(a) Print popularized the ideas of the enlightened thinkers.
(b) Provided a critical commentary on modernity and despotism.
(¢) Print created a new culture of dialogue and debate of clergies.

(d) Print culture spread the views of Nobility only. 1
[.32/2/3.] 7 P.T.O.
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19. TofecTiefien s 1 HIE H T ieeh 91 A1 ? TfciRad § 9 98 foehed o1 == shifve :

(a) 3 TE MBI 3R T o |

(b) 3= TTHR g T~ fohaat 7T |

(c) AT ITHR H T geeh of |

(d) ¥ 3= TS BT o | 1
20. ﬁaﬁwﬂﬁ‘{%ﬁﬁm

fRifem S| vget vget e § v YT < T TR | 1

g
Hfereh Qo 4 1579 T Shi<i= | ggef! fepare BT | 1
TUE -@
21. WRA H S¢ (T2EF) ITNT o THE 373 fohea] 1 @ TR 1 GUH 19T | 1x3=3
e

Tereht &1 o 3 Bt enTferd A ATt feRegl T et o1 g ST | 1x3=3

22. “TIfSA &Ah h HEATI! I TSR FL&AT % T HeTd & |7 39 A 1 qodishd hiT | 3
Bbe)

“Yl H HelT & <hl Tl T3l H I 9 4 Flg T 2 W & |7 59 YT Bl Ao HiT | 3

23. fsre @ & A < THT A b fehedl i TuTal St T hIfT | 1x3=3
Jreran

T UM % I H Tee AU SR H WRA o W 3T Fft IS 6 THaemedt 89 &

TeR=g T ShIUTT Sl TTT HIT | 1x3=3
24, “Td 1 Sh-FIR 74 fava =1 9w 2 |” 3IgTeT0N Higd % i gfE HIfT | 1x3=3
25. WA TS H ATSeTrehdT shi feheal o T3t 1 9o shifsrT | 1x3=3

JnerEn

T <t farefrent & afgemani o wu ufafifie i gmen =1 auH Hifvw | 3
26. WA "iqg™ § fvid w= g 1 fopea! d forivarsti s v Hif | 1x3=3
27. WA o fre11 o R & fotu i €= 3T gy | 1+2=3
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19. Why were the Bibliotheque Bleue popular in France ? Choose the correct
option from the following :

(a) They were cheap and small books.
(b) They were promoted by the State.
(¢) They were voluminous and colourful.

(d) They were printed on good quality of paper. 1

20. Fill in the blanks :

The printing press first came to Goa with missionaries. 1
OR
Catholic priests printed the first book in 1579 at Cochin. 1
Section - B
21. Describe any three major problems faced by the Jute industry in India. 1x3=3
OR

Describe any three factors affecting location of industry in a region. 1x3=3

22. “Workers in the organized sector enjoy security of employment.” Evaluate

the statement. 3
OR
“All the services of the ‘service sector’ are not growing equally well.”
Evaluate the statement. 3
23. Explain any three effects of scraping Corn laws in Britain. 1x3=3
OR

Explain any three reasons for the domination of silk and cotton goods of
India in the International market, before the age of machine industries. 1 x3 =3

24. “The Indian postal network is the largest in the world.” Support the

statement with examples. 1x3=3
25. Describe any three problems of communalism in Indian politics. 1x3=3
OR
Describe the problems of low representation of women in Indian
legislature. 3

26. Describe any three characteristics of ‘Union List’ mentioned in the Indian
Constitution. 1x3=3

27. Suggest any three ways to improve education in India. 1+2=3

{
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28. feu 7w HIq i ufeu 3R 35 Fi= feu u yet <1 3o faifan
SEEINT A ?

1ot Sftrg geeh fég WO (1909) § HeTedT Mieft 5 <har o foh v | forfest smem s
% TN W & TG g AT 3R AG A T TN o HRUT Ied 9T T 7 | 3R 9R’A &b oA
mwﬁnméﬁﬁwm%ﬁm&ﬁﬂw&maﬁiwﬁwﬁml
JTHEANT 1 =R ST il o7 |eha o1 ? Mefish <1 germa o1 o6 218 3Aigier g
ﬁ%ﬁmmaﬁlm%ﬁwﬁﬁwmaﬂéqﬁmvﬁaﬁaﬁ%ﬁﬁwﬁ
i, |, gfer, srererar, faemdht uftvel, whett 3R fagelt awgat =1 afgswr e =1t |
mmwwwwrﬁ%aﬁmmmaﬁmaﬁ fopam ST | 1920 Hi
nﬁﬁﬁmﬁﬁtﬁmmﬁa@m%hwﬁ@g%mmﬁwmﬁ@l
(28.1) TSt 3 W ® forfest ATy & oied & foe fop eferm smmm 2
(28.2) 37U WRA |y T ?

(28.3) ITHEANT ! AT S o foT Tiefsl o foam 1 =g Hifu | 1x3=3
w|ug - T

29. THH % TehIehTUT H 3ierar fermeh <t firent i TE HIf | 5

W%Q@ﬁwﬁgﬁﬁ%aﬁ{ﬁwaﬁwﬁml 5

30. WA Y T Svefientor 3 yurE shi e Hifw | 1x5=5

31. YRR TER i urel i fehegi uie formiwarat s v shife | 1x5=5

32 frfafaa gt = ufeu 3t 37 i few 7w gw=t & 3w fofeu
Hid — A I, e 3R QU we
Ak § qad 9t iar 78 it 8 foh oAl <1 3791 ITHeh T 1 TR 37 3Eeh] T
T SR @ | ah-SRd 3R JYUTEYE 39 il o fow A i itk o
ieR i | T8 BT SMET dTfeh T o Jd fSAHeR TiehR 5 T 3 THT At
1 Al 3T 3Efiel W em ¢ |
Hid — B anfdies wgfig ik foremm
AHTIME! Tt e ferenfia <t 37T cATehdfsreh ST oot A frehfird <3mi o o &1 3T
TOI TR | T EH IHIC hT Tehd & Toh 38 AT H TIohdl =ieh A€ dHTRIE! § T8l s |
i — C AnTiest Y Tt 3R AT
A T Aehdiieh SAGEAT 3 HUTR 3TN Hewra w1 R g8 feRni & AW 6 T0H gt
IR THH ATE & ¢4 ! 51 fea1 8 | 31 ot Siferta WewTd 3K g o IS0l @ ol
et 8 W 3ok 9 | St A1 Afeh 9 2 BT | §9Eq: $61 3T89™ % =9oid 3T A
319 b JfehRI % Ui SITer =iehd gu # |
Hid — A ST, e 3R au wes
(32.1)  AIhAIh TR AN ol TSHITdeh U1 i =1 TeEdT 8 =11 & ? 1

prm————

|.32/2/3.| 10

s-fbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

R RREEEEEEREEEEEE————S—EE————S——————se~
BEWUS

[Em[E [E[E
= =

28. Read the source given below and answer the questions that follows :
Why Non-cooperation ?

In his famous book Hind Swaraj (1909) Mahatma Gandhi declared that British
rule was established in India with the cooperation of Indians, and had survived
only because of this cooperation. If Indians refused to cooperate, British rule in
India would collapse within a year, and swaraj would come.
How could non-cooperation become a movement ? Gandhiji proposed that the
movement should unfold in stages. It should begin with the surrender of titles
that the government awarded, and a boycott of civil services, army, police,
courts and legislative councils, schools, and foreign goods. Then, in case the
government used repression, a full civil disobedience campaign would be
launched. Through the summer of 1920 Mahatma Gandhi and Shaukat Ali
toured extensively, mobilizing popular support for the movement.
(28.1) What was the weapon of Gandhiji to fight against British Empire in India ?
(28.2) How did the British survive in India ?
(28.3) Explain Gandhiji’s idea for making non-cooperation as movement.

1x3=3

Section - C
29. Explain the role of Otto Von Bismarck in the Unification of Germany. 5
Explain the role of Giuseppe g/Ila{zzini in the Unification of Italy. 5
30. Explain the effects of globalization on Indian agriculture. 1x5=5
31. Describe any five features of Indian National Congress Party. 1x5=5

32. Read the following sources and answer the questions that follows :
Source A - Accountable, responsive and legitimate government
In a democracy, we are most concerned with ensuring that people will have
the right to choose their rulers and people will have control over the rulers.
Whenever possible and necessary, citizens should be able to participate in
decision making that affects them all. Therefore, the most basic outcome of
democracy should be that it produces a government that is accountable to
the citizens, and responsive to the needs and expectations of the citizens.
Source B - Economic growth and development
The difference in the rates of economic development between less developed
countries with dictatorships and democracies is negligible. Overall, we
cannot say that democracy is a guarantee of economic development. But we
can expect democracy not to lag behind dictatorships in this respect.
Source C - Dignity and freedom of the citizens
Democracy in India has strengthened the claims of the disadvantaged and
discriminated castes for equal status and equal opportunity. There are
instances still of caste-based inequalities and atrocities, but these lack the
moral and legal foundations. Perhaps it is the recognition that makes
ordinary citizens value their democratic rights.
Source A - Accountable, responsive and legitimate government

(32.1) How does democratic government develop mechanism for
citizens to be the part of political decision making ? 1
(327273 " P.T.0.
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Hid — B anfdie wafig ik foremm
(32.2) T &< d BH %8 Tohd & foh Tlehddl 3T faeh™ o foT0 v a1 8 7
3T I H! & feigati & Trm Hif | 2
Hid — C ANTHRERI hY TRAT 3R 3T
(32.3)  Tor" B d Aiehaa e bl TTAT 3T TIG=dT <l SGTET T 8 7 Teh 300

h T TIY SHINT | 2
33. “9Rd fod S KON b NI Fial hl BRI T TR @Al & 17 30 AT 6
IeTELvTt |fed gfe Hifre | 5x1=5
Jreran
“TI% TETIAT g HoIGR oh! FHUMHR T HHT hl THET T ITRA H Heg L & |” 38 HeH
&1 IeTevnt afed gy Hfe | 5
34. ToREW % TG ! ThH-g8 ¥ e o Y TgUgR Hraf=r 6l fiest 1 fagerm
T | 5
Qg - |
Tt snenfia a9

35. (a) < @& ‘A’ 3R B feu T wra W Uil W@-HEtEE | 3ifehd fhy | e
weqoT b1 FrfeiRad STeRrl 6 TeEdr ¥ qgaeY 3R 3% Tl AW qHf W)
(A) I TN &l AfAATSTEAT T FATHTS §3TT |
(B) o1& ¥ &l Mt 3 ¥t fired worgll o v ° weamwg T | 1x2=2

(b) T feu MU vRa % THifae WWT-aHtea § fefaiad § @ fel =m 61 3ugs
G) fegb — oy
(i) 36N — I S
(i) foeRR - 8 3R sETa O
(iv) et — AR THIATS UTeh
(v) =3 — g g W
(vi) TG —  3TuTereh el A 4

e : Ffeiaa av7 hae givanfem udenfer= & fore a97 @@ 35 & wW W, 5 5 &
Wﬁﬁlﬂ:
(35.1) 3| TS o1 A9 TR sref Sferatare smn gcmhie 537 |
(35.2) 38 T 1 A fefaw STar iefish = geft firet woiqll = ved § geamg foha |
(35.3) 3| TN 1 A fetRaT et Wi TE i w1 3TREeH 1927 | 377 o |
(35.4) 38 T 1 9 ferflae St feed s fm 2
(35.5) 39 U= 1 T faftau ST ¢ <iig oTsh @M 2 |
(35.6) 3 TS ol A feARagu &t forear oitg soara v fRa 2 |
(35.7) 3\ UsT 1 T feaRay &t et afreasr Saiatist qreh R B |
(35.8) 3| U= o1 A9 foARaw sraf ==1g Tl va= fua 2 | 1x6=6

e e e
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Source B - Economic growth and development _
(32.2) To what extent we can say democracy work for economic

development ? Elucidate your answer in two points. 2

Source C — Dignity and freedom of the citizens
(32.3) To what extent democracy promote dignity and freedom of

individual ? Elucidate with an example.

33. “The Reserve Bank of India supervises the functioning of formal sources of

loans.” Support the statement with examples. bx1=5
OR

“The Self-Help Groups help borrowers to overcome the problem of lack of

collateral security.” Support the statement with examples. 5

34. Analyse the role of Multi-National Corporation (MNCs) in interlinking
production across countries. 5
Section - D
Map Based Question

35. (a) Two features A and B are marked on the given political outline map
of India. Identify these features with the help of the following
informations and write their correct names on the lines marked near
them.

(A) The place where Jallianwalla Bagh incident took place.
(B) The place where Gandhiji organized ‘Satyagraha’ in favour of

cotton mill workers. 1x2=2
(b) Locate and label any four of the following with appropriate symbols
on the same given political outline map of India.

(1) Tehn —  Dam

(1) Indore - Cotton Textile Industrial Centre

(11) Vijaynagar —  Iron and Steel Plant

(iv) Noida —  Software Technology Park

(v) Chennai —  Major Sea Port

(vi) Tarapur —  Nuclear Power Plant 4

Note: The following questions are for visually impaired candidates
only in lieu of Q. No. 35. Attempt any six questions.

(35.1) Name the State where Jallianwalla Bagh incident took place.

(35.2) Name the place where Gandhiji organized ‘Satyagraha’ in favour
of cotton mill workers.

(35.3) Name the place where Indian National Congress Session of 1927
took place.

(35.4) Name the State where “Tehri Dam’ located.

(35.5) Name the State where Durg iron ore mines located.

(35.6) Name the State where Vijaynagar Iron and Steel Plant located.

(35.7) Name the State where Noida Software Technology Park located.

(35.8) Name the State where Chennai sea port located. 1X6=6

P ————
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